EARHEFT
(X A vE18)

3l 7 7 Ry
10109 ~11K10%

AE—H—RETFE
(RIEBRFEFEE)

IR FERE 9IK~11K15% - LGS N
(¥ 72145)

X FERME 11KF159~11K30%9

Bk 7 = 7 EHE
ORF~13K3 0%




I

W
e P R B el B i BETY7
g7

EEEATRETYT

13
E

¥ 2 b EIGEATRA]

77V RTFIR
(AITHAR - FIE5EER) >

TRE
SHEBOBITRENEEEL B
Al s —RERMDOBITHH 2)




K2 -2 [[TERE

HEIYT

T y7

| ==
()

REEATRIVT

E-Z—-1RREFE
(RIEHZTES)

Cie nm- sy
B

AC—H-BREBEFE N T X : Jr ff —
(BIZETEZFEEE) E ] - : e ot . | anienlzl

T
i IS

N S

AR Rl EN

ikt F ARG T

o 2EE

Ear
e




® , &

@ ®

6400 ) 649 6400 P 0400
o su | e poy S | o e
T f f JEa | T
| ey Sy 4 ams
— ¥ :'Ib",

i. e H \

| h‘“ )
l

R

'&__ '%%

:{B@u
5| &y

%

“3ﬂ§

T4 —3AKRETE
(RIEBZEEE)

®

O

® ® 0,0

%

ll"vf")l)l l

rmmfr E{}]B‘[ i3

%%‘%%

=

E

457Uy L BRET

®

O

)

1400

580

3%

2

4K (W)

1000 500 % 190

1000 1. 400 % 150

00 x| HOx 15
1000% 500 % 190

3,000 x 1,400 x 150

T

0% | Mox 1%

e

[ ST

TAL wEN

lﬂlll)‘ll

1000 % 500 180

3,000 % 1, 400 x 150

800 x 1, 500 150

ERRAT(1I]

1 000 % 500 150

1,000 x 1400 % 150

90 x ). 500 150

TiEE




Q}D

@

®

w

®

£160

® ©® ® @i@
|

snn

aa

asng

i

as0

280 o

iz

BR2 -4 [FEEERAR - EL] () [

L G

|

A

jt_“i

(;T) 5 @3/‘ L @} o (ﬁ) 40 Qr) \‘\l 5
‘ l R
| I | | nm\ \\\\\ : i
! L ! |. ! ! 'Q\\\\I‘\ I
— T o RN

===

e Y.
Lﬂ\@ﬁ*’ 14

e

I
L

T
1l IHD

P

i
D/H/ﬂ

=
=)

=

=
P
3800

L)

®

|

[mnErs:

ok |

'E.—

ol
;

Ml fa|

TR —

ARET

il

(RIBREED)

500
G400

gy 7

SR

B [R-3)[R-4]

( ) Ew

BEIU7

1 101,160

P TINC )

150 1, 500 1680
TH0s 13050

I

BRI

150 00w 60
T

B T T 7 TE T e ————

CZEACTT

%
(LTI

1 000% 500 % 150

T AR

[COIETI]

0000w

30 =2 2000

11 a0 Mwaty

LAy |

PECRINEEE ]

i1

[0]

[0]

[0]

(1] %
ERRATNE

Q)

[0]

a)

1)

(D]

PO

| Swei e |

B8 1 G080

[T

3002 0320

o i

o0 n X083

PS[E-d]

TR0

L LT

DT

EECLINCEE]

TiEiE

| — P O









